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stzaracl =2 1t Ccniraricc A fTow peopic
Fhoere is a handsorme snan o the left of (SI_
picturce very carcfully Across from Ime, A YOUunis zarl
ITcer brother is playing with her. They ' re runmings Aand
mothoer 1S Sittineg= bechind thr<rx. Shhaoa 15 waAatciiTigz

<35 framn.

i best fits in blank sppace 1)~
T here Wwas
T here is

T here

T here arc

£ fits in blank space (3)7

guick
carcful

£ very

hich best fits in blank space (4)7
to the right of

B right

== the right

= the right of

hich best fits in blank s
A is eating

B. am cating

arc cating

cating

ace (5)7
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"hhricih bhest fits im DHDlank space CZ2O 2

= Play .

= Prlayingse
icih bhest fits inm bDlamik space (S 7~

hrest fits inmn DHDilank spacs (S)H

is playing
her

arce playins
hhiis

thair

th<xrx

is thh e correct s
havings

Ir:at eillizxe
havcecinss
havving
hav yings

i the follovwing

letter, and thhemn answvwens o amestions =

rr Pedro, *

My computer ismTt wWoOrkiTngs,
vithing here inx | S0 X

s I wwriting you a letter. FHlow =
is great. 1 ammm

R L School is &=
= of classes this year. I play sports in my free time., Too.- I reall
ast weckoend —was fuan. <O Saturday = <k had
—— . > — I was very slecepy. Maria didn"t play
sick. A fter the gamne, 1 shopped for srocoerices wwithh rmay IO an
%= o= iuanch at IROOTE .  § AaS really hungery- 2 frtex that, X WAAS
%) rxy friend Rick called me. We walked to thhe ©

— e £ OO0 Jn thoe ocvoeniIngs,

On Saturday

night, I prlaycd sames
S e - SN

f thhe vword thiat fits i Dliamik spa
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¥ O K e phrase ""NIarch 7. 20085 =

¥ et hcadims
the Eroec -

thhe ssnaturc
the bodsy

| B S s phrase ""Dear Pedro ”

thhe body

thiee s gnatuare
thhe heading
thhae precississ

th e
LR SIigsrzaatuire
thie ;)l‘—d:r'

> thhe hecading

=

he three paragrapihs of © letter sxake

the hbeadings
thhe srectirng
the closing

| = ich best . bBlianmnic e (1)H)~Z
wvery ha =
- Rapp v very
- Bappily very
= very hBappilsy
2sS2 ich best fits in blank s CZH) >
in 7:00 on the rmmornin
on 7 00 in the mornn
zat 7:00 in
> ira at thhe Tnnorni
16. ich best fits in bDlank (3)2
Z=racd
7. hich best fits in bBlanic 32>
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W hich best fits in blank space (5)7

= - w3y

1S5.
A don't have
B doesn't have
Jdidn’t s
didn't have
|8 & = € hoose the word/swvords that best fit(s) i
19, e classroom is in
large building
a large Dulilcins
_ largse
building large
20. On Thursday, students wear costumes.
SOIinge
> is going to
arc going to
SOoiiie
=% The (Garcia family was Vve r excited thhe trip-
B later on
. e in the end
. finally
> alid hated school he always got good grades.
until

v morning.

Thurs

Z3.
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and Maria"s

Dathroomn is Francisco’ s b
OO,
across from
Dotwoon
e N
ACTOSS

live and v Rivadh.

AAhmad
- mad and has sistic
Tiis sasicr

i> Ahmad's sastcor

3 SCNIcnCcc
2 complex senience
Nnot a sentenccoc

>7. “Becausc I left the play ea

a simmple sentencoc
a compound —ntencce

Sty T =

I missed the sarpris

Nnot & SCnicrncc

Choose A. B._ €. or D tc wer guestions (28

> tl.n'e underiined w ? 1f thhe sentence is
A .
nd Kind™

IV,

Z28. W hich is the best substitu

rrrect, choose ""Miake no ©

TP edro and Martin is ni
- Pedro and Martin are
B._ =aro and Martin 1S
£~ They is

D. Make no change.

Z29. Which is the best substi
correct, choose ""Make no
"My family took a train
ook train
drove a train
flew 3
ake no change.

/

for the underliined wc If the sentence is
ange.""

“hicago Ilast summer.""
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IO. N hich is thhe Dest substitute for the anderiined word? iIf thhe sentence s
correct, choose ""Miake nno change.""
Y did may homework to thhrce hours omn Sunday ™
A fromm
=
= o ——
i,

Make no changc.

=1 . "W hich sentence is an excla

is Ahmad a gsood studc
Write thhe answe

T
iy thhe

32. rhrich is = compound sent

. My sister spoeaks Ens
E EFrancisco got a shop

At the ix

jhave vume o S0

Bdjoectave 7z danger™"2

SUATRIILY
[ > excitinge

hat is the SVIIOIR VI of the

jective ""very sood™
strangc

s exhausted

ich is the best way to rewrite the followi
«“Fhey don’t buy junk food because they like In
They don’t buy Junik food., so they lil_;c healthy fo
They don’t buy Juni food, but they like he.a\thy b T
They Iike healthy food. so they don’t buy _)\}ﬂk £

They Iike healthy food, but they don”t buy 3

food.™

We travelled to New York
We travelled to New York and we saw the Statuc o
We cavelled O New York but We saw the Statuauc of

A AT A
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-
unctuated © Ty~
raincoat.

incoat.

T 3 s is
ich of thhe following .sent}cncc@ i EEREARRSS
: : 2 + result she 1s Wee =
It is raining as a rcsu N =T - S ara
It is rainings;: as a resulg, she is wearnng ra‘incoat
It i1s raining as a result,. she 1s \\‘ca;r*{tlg a et
It is raining: as a result she 1s weanng a ra -

uaestions (38 — 45)

) Y= Study thhe following
1) _ It's December 3. It rancisco’s blrtl;c;a)y He
(=) ~ 16 vears old today. Francisco's family 1"(:3)!‘83(5 ——a,‘p ————

birthday., They always have a birthday pariy at

cisco’s friends and family asually ) party. They play samecs
cat birthday cake. Francisco usually ) a lort of nice prescoents,
7)) He Iikes his birthday ()

ch sentence fits in blank space (1) as -a topic sentence™
Francisco's friends brought him many gsifts
Francisco's famaly celebrates his birthday every vea
Today is Francisco™s favorite ceclebration.
Francisco likes eating cake on his birthday .
ch best fits in blank space (2)72

is

arce

2T
be

ch best fits in blank space (3)2
her
his

S ich best fits in blank Space (3)7?
their
themrm

22_ hich best fits in bBlank space (S5)2
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Fch hest fits iany DHDliamnk s mce (6)7T

=<t
B=oOot
Zots

. Ecitinigs
Irich is thh correct s
o T
= TV <>
T

T O
"Iaicih bhoest fits iy DHizam
=ra<d

boecaanse

e =

of thhe word tihxat best fits im Diank space (77

~ = (S »T

Haax
b s #= Stuadwy the followwin aAaragraph =@nd then answswen uestions (46 — SO)
Some pecople are youngs., and sommnce pecople arce old.
long, strassht hasr.

T he parlk 1is very C1)
Some pocople arc tall, zaTicd SO=x
Some people have short, R =
of the park sate. A tall woms
eves. I hey arse talking and Iau

arc <= - Some people have
hair. One old man has no haixr® Hle 3 iy fromt

s standing beside him. She has bDlonde hair and bluas

ATRET «S) =

jch best fits in Dimank s ce ()T

crowdedd

happy
carcftful

cmpty
ickh best fits in bBiank
short

sood

bad

happy

ch best fits in DDliank
old

happy

nice

curly
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49,

hich best fits in blank space (4)?
A. sits

5 sl
s sitting
Sal

hich best fits in blank space (5)?
loudest
louder
loud
loudly

:

S0.

(A458) &5 dayy




